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BOK OB O& 13 mm EXEE RS 50 il
TAT7 Vb D FEEE BAET AT 7k 40/60 ELABREER AT 3 F 1A
A aE gk FS2==% R =i ﬁ%ﬁ%%%%ﬁ%
HFHEMO=ERHNE S R
R B4 | BRAR R EM4 | AR |E OB EBEA®| HEE  E B Ea/\i FHEE
(%) (%) (%) (kg) (%) (kg)
S—20 %ﬁ R13-0 | 29.4 735 A 0.9 22.0
S—13|20.5 VAR i) 2.8 70.0
B sT 5 5.0 M 56 WwETAE (6.9)
w | WEHEAD ) 13.5 | | | R13-0 30,0 |4 7 =& 1.5 —
B R | 13.5 | A& 3SEL | 18.2 | 455 |memmml
5 M w135 | F 2| 5.1 128 | #7a77vh 5.4 135.0
= B 40 | M 12| 38.2 955
it 100.0 | OBV i 100.0 | 2500.0
D5 0VH | E W B & B B B A | ERmHEHAR, B E # P
53 mm
& 37.5 mm
B 31.5 mm
% 26.5 i
B 19 mm 100.0 100. 0 I 100
" 13.2 mm 98. 6 98. 7 I 95 ~ 100
il 4,75 mm 72,7 73. 6 e 65 ~ 80
H 2.36 mm 58.9 59.7 — 50 ~ 65
600 pum 31.6 31.9 — 295  ~ 40
% 300 um 20. 8 21.0 — 12 ~ o7
150 um 12.2 12.5 — g ~ 20
75 unm 7.5 7.6 —_— 4~ 10
@Wﬁaé\ﬁ%@aé\ﬁéﬁﬂiﬁgﬁ H % (=
ET AT 7 )V b (%) | #&Ft 6.9 WE 6.9 i H 6.0 ~ 8.0
B7 A7 70 & (%) 1.51 1.5 —_—
BAEBERMNAZ (%) —
T A7 7V & (%) 5. 39 5.4 —_—
W B M & (%) — _— _—
=% B (g/cnd) 2.318 2.318 —
< REBRBEAEE  (g/en) 2. 417 2. 417 —
INHEE (%) 4.1 4.1 —— 3 ~ 6
CER 1 E (%) 79.0 79.0 — 70 ~ 85
YR%e & E (KN) 9. 45 9. 43 — 4. 90 D=
NI T — fE (1/100cm) 30 31 R — 20 ~ 40
o (%) —
= O¥ B E (g/cm’) E— 2.318  —
g% 2 K (E/m) _ —
T 0 W D & (cm®) EE— = —
1 i3 3R (%) _— - —_—
% K & ¥ (cm/sec) N
B A& Hw B ERE 160 -+ 10 °C
45 i = IH
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